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« RCODT—FAA

koku = ¢(4,2,5,5,5,3,3,3,2)
kire = ¢(5,4,4,3,4,4,4,3,4)
kaori =¢(2,1,3,4,5,3,2,2,3)

-

beer =

data.frame(koku,kire,kaori,row.names=c("super
dry", "kinmug

i","ichiban shibori", "yebisu",
"premiummolts”, "tanrei", "nodogoshi",

"mugitohop", "clearasahi"))
— beer

R R Console
> bheer data.frame (koku, kire, kacri, row.names=c ("super dry",
> beer

koku kire kaori
super dry 4 5 2
kinmugi 2 4 1
ichibanshibori 5 4 3
yebisu 5 3 4
premiummolts 5 4 5
tanrel 3 4 3
nodogoshi 3 4 2
mugitochop 3 3 2
clearasahi 2 4 3
>
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o MASS/INYT—Z A AR—)L
— install.packages(“MASS”)
— library(MASS)

o X1~XAZEREAZEHMEL T, ERFES T
— result = Im(Y ~ X1+X2+X3+X4, data=aictest)

o AICIZE DT HEIR
— result2 = stepAlC(result)

IR

> result? = stepRhIC(result)
Start: AIC=25.3%
¥ ~ X1 + X2 + ¥3 + X4

Df sSum of Sg R5S AIC
- ¥4 1 3.233 72.763 27.84¢
<none> 69.531 29.392
- ¥1 1 41.797 111.328 32.08%
- X2 1 43.966 113.487 32.262
- X3 1 165.279% 234.810 39.562

Step: AIC=27.85
¥ o~ X1 + ¥2 + X3

Df Sum of Sg RS3 LIC

<none> 72.763 27.84¢
- X1 1 39.909 112.673 30.219
- X2 1 84.007 156.770 33.522

- X3 1 168.982 241.746 37.853
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